Sol-Algebra.notebook

1. Smplify the Boolean expression using Boolean algebra.

a (A+B)+B. - 4 + B +

—

b. A4+ BC+BC . -
A+B (C+C )= A4 + B
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2. Create the Boolean Table for AB + C

alelclaB|c [AB+C
1|1 1] 1 0 1
1 1|0 1 1 1
1 1011 0 0 0
1|lo/o] 01 1
ol1/1] 0O 0
of1(0]| O 1 1
ool 0 0] 0
o010 0 1 1
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3. Simplify each Boolean expression:
o A(B+4),
o, (B+A4B)C+4c)
¢ ABC +ABC+ABC
¢ (B+AC)\B+4)

a A(B+4). =AB+ AA = AB

3\
O

o (B +ab)crac) =BC+ABCABC+ AABC LB
= BC + ABC + AB£

Factor out AC
= BC + AC(B +§5

!

= BC+AC = C(A + B)
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3. Simplify each Boolean expression:
c _.iB-C' + 4BC + ABC  Factor out A: A(BC +-§C + B—(.:-)

Notice that inside the parenthesisis B + C
so this can simplify to

A(B + C) = AB + AC

a (B+AC)\B+4)

. BB +BA+ABC +AAC
Simplify —— —

B +BA+ABC+ 0

Simplify B + ABC
B(1 + AC)
B
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d. (B + .—l(“')(B + tl) Really? This simplifies to B?

——
ABC | B+AC) | (B+A) (B + AC)(B +
000 | 0+0=0 | 0+1=1 0

001 | 0+0=0 | 0+1=1 0

010 | 1+0=1 | 1+1=1 1

011 | 1+0=1 | 1+1=1 1

100 | 0+0=0 | 0+0=0 0

101 | 0+1=1 | 0+0=0 0

110 | 1+0=1 ] 1+0="1 1

111 | 1+1=1 | 1+0= 1 1

Yes - this does simplify to B
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